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O HagXl L ANy Y2EF I=HY
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O ol X HelAld 29| 1,500,000,000& x 1Al = 1,500,000
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g 1 (320) =2+ Mgt (321) AIEEE 3 S 1 (01) ANEEES (

o2l JHA)
=
= d g = —
= weaw | LEE |3 2 & = ] =
27,291,585 26,482,300 809,285
27,291,585 26,482,300 809,285
900,000 600,000 300,000
2 900,000 600,000 300,000 O 8306t & | B2 30,000,000& x 3021 = 900,000
x2
= 26,391,585 25,882,300 509,285
Hx2 18,131,000 16,228,000 1,903,000 O S8ZB26t=XelAlE DT XHe EXNZ2AF EH22Y|
=Hl 155,000,000& = 155,000
O H&olz stx=Hela+ HAAHXME AlIZ8ArY
= Hl 340,000,000& = 340,000
O AL sUHE0IZ2dt=E HMAE SAt
= Hl 963,000,000& = 963,000
O 2005¢ BTL ot HAEHIAIY U=
=Hl 3,855,000,000& = 3,855,000
O 2006¥ BTL ot HAEHIAIY U=
=Hl 4,595,000,000& = 4,595,000
O &M ZIRE=HeANE AXAE
=Hl 5,163,000,000& = 5,163,000




o] Mg : (322) BFRINALRE = ¢ (01) 2RBES o - mE)
" = & & p] ES
SQUABIZ MNEBA =4l 3,060,000,0002 = 3,060,000
A577.000 | O SEBIBo+HAAE DEH2 AXIA LHSAY)
Al 155,000,0008 = 155,000
St M= SR FUlAY AlHl 402,000,0008 = 402,000
ST SUENSEHEE HelAL B
AlBl 412,000,0008 = 412,000
2005 BTL BI+2HBUIAY LU
AlBl 1,887,000,0008 = 1,887,000
20061 BTL BI+2HBUIAY LU
AlBl 1,977,000,0008 = 1,977,000
A4S ZIREHUNE SRAY AlHl 200,000,0008 = 200,000
SQUSABIZ MEBA AlBl 2,040,000,0008 = 2,040,000
B4 M4, 3=, EETA AlHl 100,000,008 = 100,000
BHABOIE S4K =82 A AlBl 100,000,0008! = 100,000
SE4E =M 5T HABA Al 60,000,000% = 60,000
QUM L£UXHE WAEIT ALSA
AlBI 70,000,000% = 70,000




= (100) X=X 22 gt (320) 2=+ Mg : (322) Elg HHAEEX = (02) EtglHAEEXS crol ;- ®Y)
ot = B E e | = <
O Yolith=BZ & =& d4Hl3A AlHl 50,000,000& = 50,000
O 2L ZAE CCTV E XIS Al AlHl 30,000,000& = 30,000
O F)S=sEY =8 ot HUI SA AlHl 30,000,000& = 30,000
O dol @5 mas=s==% =4 AlHl 50,000,000& = 50,000
O dofl SAHEBEBZE SHZIHSA AlHl 120,000,000& = 120,000
03 o ]
Al SHIRZES 68,000 223,000 | A155,000 | O WEOIZ st+xelE7 Xl AL
T H| 68,000,000& = 68,000
04 _ -
j|E|.D_—|/é-|_b‘l__7‘C_g 509,585 1,171,300 A661,715 O Lékgf/‘\_l_l]:_M 6F¢‘§‘%I‘iﬂ|é¥ /\|§E%H| 509,585
o A&l 499,585,000& x 14! = 499,585
o XH&tH S| 5,000,000& x 24 = 10,000




©(900) Ol”2 (910) 0|22 ©(911) &t (00) Bt2SAFR2 012 o
b = SERE ,
o E = W L |8 02 =
olg= 1,100,000 ,900,000 | A800,000
910
D|A:
= 1,100,000 400,000 | A300,000
911
5t =
100,000 200,000 | A100,000
100,000 200,000 |  A100.000 A=
50,0008 x 2,000 =
916
RPN 1,000,000 /200,000 | A200,000
1,000,000 /200,000 | A200,000 hEE A 25,000,000 = 4024 =




